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" EAETREM REEE S EREEES R

1 FERAFEEEEM -
EIMEHL - 4531 m’

FEik SR EYREEE MRt E — MR R E MR E 50%

HE(F=EmENESEER104E1189H) -
EEZEHE - 1473.37 m
SEESEER : 1473.37 m° *50%=736.69 m’

2. WA BT

& 12*64 M +11*16 m' +9*36 m’ +6*16 m' +5*16*1/3 m' =1390.7 m’

S : 31.9*1.5+49.2*1.5%1/3=72.5 m'
i3 < 323.44(145.2475)*1/3=396.8 o’
Kt : 28/3=9.3

&it: 1390.7+72.5+396.8+9.3=1869.3 m'

3. BEER
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4. (T e M A R 5 BELEARE ¢
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ARG EEEE ol B 12| 64| 1] 7680
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ith 3 3 A I AR BAR) B 9 36 324.0
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qE 2| 319] - 15/ 479
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EISLER =75>1/2 BIEFATE® =59.55 m v 5T I8 N B2 P
s, AR m’| 492 - 1/2| 246
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REEH = 2,730.32m?

EERBEERET =
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(*/m3 (my*) | (mI
A5 ¥ 11,829.05|(m3 0.6 1 0.015 107
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- B0/ & iRE % | 28,363.93/(M3 0.6 0.2 0.1 341
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£ 2t 470
- PR okE (Vd) =V LD (% 2 fhik) 517
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427 R mokit &
-~ R AEMTRR 2 TR AR BRI HERE  R

(- )a k=

BRI R Ac= 05 x (1-0.65) = 0.18 » 4 * B H - F K4
BooBSEkE BB Y £552 5 Q=1130m° R 2 ¥ %ok Q=39.15m°» A% &
B ORREFE A=Q/Qo=11.30/39.15=0.29> A Cc > 7 & R4 o
* L

Sl R AHATRP T Ac=05x (1-0.65) = 0.18 » L4k H# - @;

B EH A E L Q=1296m% 0 B 2 kB Qu=39.15m° > & & A @J\ tiE
A=QIQo=12.96/39.15=0.33> A C » {* & 44 -

S mh A ke w A KB R ENER B R R R
(- VR k=

PAZEG BB F R FEEY 5 ER 430
Lgrd ARk LR KRS S0
DA A RTORERERGIRRS A FERPZEARGR O
48477 > AN TR FEREOSELEREAMEI L > B a g R N
% 8606/(t+49.14) s ;NP t i A BN >  H 23 A48 o

%48 440 LERPLIEFIRR

e i T Ep
Fe 7 8606/(t+49.14) 346.3/(1"°%) 363.7/(t"%"
Wb R 4867/(t+48.3) 6649/(t+55.4) 2271(0%%)
TR AR A3 s kT RERSRPEFRP (P FARL L E2 0 prr) B 24

| P
RGP U ERER 2 d B R 0 40T
s = 8,606/(t+49.14) = 8,606/(5+49.14) =158.96 mm/hr(;2 159 mm/hr 3+)
l1o = 346.3/(1%%%%) = 346.3/(5°%*°) = 203.6 mm/hr
QEERE L I0E S AR KL 5E 1 drdlza i
203.6 — 159 = 44.6 mm/hr = 0.0446 m/hr
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£4-9 A1 L@ AT 2T A

AT i i R E

R 0.70~0.93
BT T 0.70~0.93
RLEAZ T 0.66~0.89
1 %% 0.56~0.78
W~ T 0.50~0.72
N R 0.46~0.67
T 0.42~0.62
EEF 0.30~0.50

L T 0.55~0.75

FTHRKR AP A RTORERERP R (P FARIYEG6 10p72)

CN/ ELE VRSO
7 %5k f A =3377.40m2> % 4-9 > C;=0.93
Hok4H & Ap=1,153.60 m2: i % 4-9 » C,=0.67
Q1 = C11A; = 0.93 x 0.0446 x3,377.40 = 140.09m3hr
Q. = CylA, = 0.5 x 0.0446 x1,153.60 = 25.73 m3hr
Q = 140.09 + 25.73 = 174.56 m3hr

8 LRI RAL 0 A A B FRE LA P R s 2 kR e

\V3¥

L
VS plERZEENA 2 0ImIBhreBERAERNRKE 285m B RIAEZEE=01
x 285=28.5m?’/hr
A jE300mm e Higiga 4 5 0.25mIBLhre BEEY Ax%E 21 B %E
%% #=0.25x 21=5.3m?/hr
HRES500mm HgEa 4 2 07TmIBhre gEEY A%xKE 145 %H
=0.25x 14 =9.8m?/hr
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